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2014/12/13 BRUARERT 11:46  #8 TRERY 11:47
JBGZ  No. BFZ IRA #R-IEBE  Fv97 b o8k LIRS e
1 5501 &) BF KSC 1-1 B 46.92 0.00
2 5508 BEH £H L 1-2 2 49.07 2.15
3 5514 thfg X EJ 1-3 = 4951 2.59
4 5503 EF EK KSC 1-4 Din 49.62 2.70
5 5521 HRH-A AEAE 1-5 #* 51.96 5.04
6 5502 B (%#H KSC 1-6 = 52.11 5.19
7 5513 £ XkEBE higE 2-1 £ 52.46 5.54
8 5509 #NIl R FiE 2-2 =] 52.86 5.94
9 5522 {EMr B AiBES 2-3 Din 53.64 6.72
10 5520 Z=&E Kl AiBES 1-7 =P 53.66 6.74
11 5517 B FfE #BJIl 2-4 % 54.67 7.75
12 5506 A $H% TR 2-5 & 57.33 10.41
13 5511 fRIE #fx hiZiE 2-6 #* 57.63 10.71
14 5516 dtiE BZE i |2:3 | =<] 2-7 = 58.10 11.18
15 5523 fE#E &5 AEAE 2-8 =P 58.40 11.48
16 5512 MiF BE hiZiE 1-8 % 61.63 14.71
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